

Additional Useful Summation Results

Muhammad Al-Hashimi

January 31, 2021

$$1 + 3 + 5 + 7 + \cdots + (2n - 1) = n^2 \quad (1)$$

$$\sum_{i=m}^n i = m + (m + 1) + \cdots + n = \frac{(n + m)(n - m + 1)}{2} \quad (2)$$

$$\sum_{i=1}^n i^2 = 1 + 2^2 + 3^2 + \cdots + n^2 = \frac{n(n + 1)(2n + 1)}{6} \quad (3)$$

$$\sum_{i=0}^n 3^i = 1 + 3 + 9 + 27 + 81 + \cdots + 3^n = \frac{3^{n+1} - 1}{2} \quad (4)$$

$$\sum_{i=0}^{n-1} a^i = 1 + a + a^2 + a^3 + \cdots + a^{n-1} = \frac{1 - a^n}{1 - a} \quad (5)$$

$$\sum_{i=0}^{n-1} ia^i = \frac{a - na^n + (n - 1)a^{n+1}}{(1 - a)^2} \quad a \neq 1 \quad (6)$$

$$\sum_{i=0}^{\infty} \frac{1}{2^i} = 1 + \frac{1}{2} + \frac{1}{4} + \frac{1}{8} + \frac{1}{16} + \cdots = 2 \quad (7)$$

$$\sum_{i=0}^{k-1} \frac{1}{2^i} = 1 + \frac{1}{2} + \frac{1}{4} + \cdots + \frac{1}{2^{k-1}} = 2 - \frac{1}{2^{k-1}} \quad (8)$$

$$\sum_{i=0}^n \binom{n}{i} = 2^n \quad (9)$$

$$\sum_{i=1}^n i \log i \in \Theta(n^2 \log n) \quad (10)$$